E}C\ Sb\@doogg =203 J X;W\A /:)3
F(P-w&\b& >0 .3 He J;otgses

= F((m@\w 67 Us Ele) + P(douwlw o0 ) leblse)
1+ P (wa&\ue,z l \ UO @\@f/>

-0 +0.4 40l 1



SUfFQ%, At G VﬁnéZ%
@ F =05 | s@>

VP(P Galue @ﬂ @Lo@lgg,>
er(f volw lx @§@>

— G| 0. \1

rell <l nifieae 6@0@)
0 ( D@QJ@%\ &} S ( \SPC iCWl ( M}\
(Ccmiswéhr@ o sirol j{g@ %Q&S
@TVG%OS’\& o \/\l \N P(TOMT/W

] @(\ %ﬁﬁ@ @d&r‘ \/\CJ\A
I NCatcsp. C><<«—> \/\\f P[ }jfz T{:r\{{ FE&B

<=D kOLﬁ,\f 4&1— Lmz—f HOQ(&B



P@w DQEQ 4@@?;
P(R@‘Jed o | Ho %lsa>
- |- Plfal b wepd o Ho W«@J9®>
:(“ P(beg T Erec) anc&ls@>

|- ﬁ
SuW@e 2B ced b &l fmch/Wf
oF Hle st

Poer = |- = -06 =04

Swﬂ%ae 4-6.C ond Heo £l Fméﬂxwf;

V@Wr [‘(33 | —e2r =0

A
Mér\ﬂ iz &t o o 6’0\3mi<( RCO/\CQJ@A@‘

@& O, g/ P(Cm@%L \/CJG’_C% L?J@[ Hét@“{&/>

J

ERORY




